X

3(6—3x)—g(6x—8)—3x:Ax2+Bxﬂ'@'ﬁﬂ, 2A + 3B 9] k-
T-atefet,
> =

> ®™eH: 1

(F4) = 2x — x% — (3x? — 4x) - 3x
= —4x% + 3x = Ax*> + Bx

A=-4 B=3
Z2A+3B=2x(-4)+3x3=1




2. a=-2 p=-7 A, & A9l g ool

4a(a - 2b) — a(2a - 3b)

(F4]) = 4a® - 8ab — 24> + 3ab = 24> - 5
5 2a% —bab=8-4=4




3.

121y (—éx— Sys %) o 7hers] st o), 7t o] A4o]

ot 5tk oluf jal 9] 7HE?

ou o9  ©@r @ 5 ® 3

2
fio

B

1 3 1
12xy % (—6x> + 12xy X (—Zy) + 12xy X 3

= —2x2y — 9xy2 + 4xy
w2t g =(-2) 4 (=9) + 4 = -7 °]B& |g| = 7 °]t}.
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@—x(x—y+2)+3y(2x+y+4):

—x% + Txy — 2x + 3y + 12y

® —(a-5b) =-a+5b
® 2x(3x - 6) = 6x% — 12x




